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2l BHA 16,638,584 14,015,160 2,623,424
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= 100,000
S 2,378,559
CH 1,800,000
s 10,201,477
MHTE 4,472,610 3,273,542 1,199,068
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CH 1,800,000
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s 119,310
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= 100,000
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300,000 x30H =% 123 10,800
o5ZANE 2=
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[ 10,416
T 15,624
301 EtE NS 26,040 26,040 0
= 10,416
= 15,624
14 IIEt2 83 26,040 26,040 0
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=S 208,000
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= 789,000
= 789,000
01 Al&H| 1,544,000 0 1,544,000
oHUAME Y SAHIXE)
1,544,000,000& 1,544,000
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02 2/l 22,000 0 22,000
oFUEUEH 2E SA 2l
22,000,000 22,000
s 11,000
= 11,000
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SHUME A2 A F7
12,000,000 12,000
[ 6,000
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SE4HE2ALA 7,100 8,500 21,400
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14,000

20,000

AR

2,926,303
361,137
502,800
880,650

1,181,716
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101 21AH| 43,804 107,744 63,940
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Ea 16,331
04 JIZtN2 2N S 2+ 43,804 107,744 63,940
orlSHIHAE L ACIAY 12|
11,0002 x3E *5A| 24240 39,600
= 19,800
= 5,940
Ea 13,860
o4l 2= 4,204,000 4,204
= 2,102
= 631
[Ea 1,471
e sl iieldE 2 7,760 19,760 12,000
201 fer= 3| 7,760 19,760 212,000
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o2%H U ARE 7Y S
3,000,000 3,000
oEEE NA& S 3,000,000& 3,000
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[ 6,000
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02 IHB A HE L 20,000 20,000 0
o WHIDESIIY 20,000,000 * 11 2 20,000
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== 2,160
o 5,040
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gt 150&*5,0000H 750
cHIANRES 78
20,0002 *205+ 102 4,000
SR2A=R 3,600
-S2Xl 20,000 52 x 122 1,200
NN 10,0002 x205+ 122 2,400
od=J| 2l 55,9008 1CH* 122 671
o=JIEEI| 2l 25,9003 x40 122 1,244
203 gF=4| 4,860 4,860
M EA2HLRFAH 4,860 4,860
=302l =t
(400,0002+(5,000& 19 )« 12& 4,860
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